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Name: __________________________________



1
The expression [image: image1.png](x+2) - (x+2)



 is equivalent to

	1)
	[image: image2.png]




	2)
	[image: image3.png]




	3)
	[image: image4.png]2+t —x+2





	4)
	[image: image5.png](x+ Dix-Dix+2)







2
When factored completely, [image: image6.png]2 +3x2—4x-12



 equals

	1)
	[image: image7.png](x+ 2)(x-2)(x-3)





	2)
	[image: image8.png](x+ 2)(x-2)(x+3)





	3)
	[image: image9.png](x* -
Ax+ 3
)





	4)
	[image: image10.png](x* -
Ax- 73
)







3
When factored completely, the expression [image: image11.png]222 -9x4+ 18



 is equivalent to

	1)
	[image: image12.png](x* -
Nix-2
)





	2)
	[image: image13.png](x—2)(x-Dix+3)





	3)
	[image: image14.png](x- 2% (x-3(x+3)





	4)
	[image: image15.png](x-D3(x-2)







4
When factored completely, the expression [image: image16.png]3x3 — 5x2 — 48x + 80



 is equivalent to

	1)
	[image: image17.png](x* -
1
6)(3x
- 5)





	2)
	[image: image18.png](x* +
16)1
(3
% - 5)(3x
+5)





	3)
	[image: image19.png](x+4(x-4H(E3x-5)





	4)
	[image: image20.png](x+4(x - E3x-50C3x-5)







5
Factor completely:  [image: image21.png]2 +3x2+2x+6





6
Factor completely:  [image: image22.png]—6x% - 25x+ 150





7
Factor:  [image: image23.png]a? + ab+ac + be





8
Factor:  [image: image24.png]2x-xy+ ly—-y°





9
Factor:  [image: image25.png]Xy e x-y





10
Factor:  [image: image26.png]b





11
Factor:  [image: image27.png]




12
Factor:  [image: image28.png]2a—-1-2ab+ b





13
Factor:  [image: image29.png]ab-3a-2b+6





14
Factor:  [image: image30.png]3ab-a+ 3b





15
Factor:  [image: image31.png]6a’ — 3ab - 2ac + be





16
Factor:  [image: image32.png]2ab - ac + 2be





17
Factor:  [image: image33.png]l-x-x242°





18
Factor:  [image: image34.png]Pb-al-ab+a





19
Factor:  [image: image35.png]aS-at-a’+1





20
Factor:  [image: image36.png]2a+x-2a'x—ax?





21
Factor:  [image: image37.png]6a’ + 9ab - 3b - 2a





22
Factor:  [image: image38.png]ab+be-b% —ac





23
Factor:  [image: image39.png]3be - dad + bac — 2bd






1
ANS:
4

[image: image40.png]X+ 2)-(x+2)
@ -+
(e 1= D(x+2)




REF:
011426a2

2
ANS:
2

[image: image41.png]24 -ax-12
K+ 3 -4+ 3)
@ -9+
(x+ 2)(x- D(x+ 3)




REF:
061214a2

3
ANS:
2

[image: image42.png]-t -9xe18
A x-2-9(x-2)
&*-9)(x-2)
(x+ - Nx-2)




REF:
011511a2

4
ANS:
3

[image: image43.png]3x° - 5x° - 48x+ 80
x}(3x- 5) - 16(3x - 5)
(- 16)(3x-5)
(x4 Dx-H)(Ex-5)




REF:
011317a2

5
ANS:


[image: image44.png]lx+ D+ 2+ 3 =+ Dix+3)




REF:
011629a2

6
ANS:


[image: image45.png]x* (- 6) - 25(x - 6)
- 25)(x-6)
(x4 )z 5)(x—6)




REF:
061532a2

7
ANS:


[image: image46.png](@ +&)a+c)




REF:
039404al

8
ANS:


[image: image47.png](x+¥)(2-y)




REF:
099806al

9
ANS:


[image: image48.png](x+y+ Dix-y)




REF:
069802al

10
ANS:


[image: image49.png](@ -
Bia+1)




REF:
060502al

11
ANS:


[image: image50.png]@+ 1)(1-2&)




REF:
069303al

12
ANS:


[image: image51.png](2a—1)(1-4)




REF:
019604al

13
ANS:


[image: image52.png]



REF:
010502al

14
ANS:


[image: image53.png](@ — 1)@ - 38)




REF:
099403al

15
ANS:


[image: image54.png](3a - c)(2a - &)




REF:
090502al

16
ANS:


[image: image55.png](@ —c)a - 2h)




REF:
010602al

17
ANS:


[image: image56.png](1+x)(1-2(1-2)




REF:
019806al

18
ANS:


[image: image57.png]ala — 1B - 1)




REF:
030501al

19
ANS:


[image: image58.png](@ +
Dia

+

1

(e + 1)(c

@
- Dia
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REF:
010003al

20
ANS:


[image: image59.png](2a+ x)(1 - ax)




REF:
090402al

21
ANS:


[image: image60.png](3a - 1)(2a + 34)




REF:
099904al

22
ANS:


[image: image61.png]



REF:
089703al

23
ANS:


[image: image62.png](3 - 2d)(2a + &)




REF:
039703al
